63. Global Competitiveness
1. Insert the correct words:

In 2016 manufacturing slipped to just 9% of UK GDP – the lowest in 200 years. Despite the success of some internationally-minded UK companies, the global __________________________ of many others was slipping. In part this may have been to do with the £’s ________________________ rate – at its highest against the Euro for many years. And companies were worrying about the increases to the minimum (now to be known as the ‘__________________’) wage and its effect on cost competitiveness. For the most successful UK firms, though, skills shortages were being compounded by the government’s hostile approach to ________________________; companies want to be able to recruit I.T. stars from India, Russia or Japan.  

Missing words from: immigration, strategy, inflation, exchange, living, competitiveness
2. Apply your knowledge:
2.1 Suggest one reason why the music market lends itself to competition on a global scale.

_____________________________________________________________________________________

2.2
Identify four factors that might be important determinants of a firm’s global success.

______________________________________________________________________________________

_____________________________________________________________________________________

2.3
Identify and explain two factors that may have been particularly significant to the global success of iPhone.

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

3. Sort ‘em Out : Help (H) or hIndrance (I) to global competitiveness, or does it depend (D)?
Greater variety of products/services
(
Recent appreciation of the exchange rate

(
Britain leaves the European Union

(
Recent investment in robotic production

(


Big wage rises in China

 
(
Careful planning on glocalising products

(


UK firms boost investment in new capacity
(
Improving technical education in schools

(
3.1 Where you have indicated D (it depends) briefly explain your reasoning:
______________________________________________________________________________________

______________________________________________________________________________________

4. Make a Case - Analyse an opportunity or threat to global competitiveness faced by the firms below. 

	THREAT

	Jaguar Land Rover
	

	Marks & Spencer


	

	OPPORTUNITY

	Walt Disney


	

	Innocent Drinks

	


63. ANSWERS: Global Competitiveness
1. In order – competitiveness … exchange … living …  immigration
2.1 Homogenous product; relatively low price (especially for individual, downloaded tracks) giving large numbers of customer access; globalization of music through various media channels.
2.2 Global brand awareness/strength (effective global marketing), global availability of product & lead-times (effective supply chain management), innovation, reliability, quality, product superiority, ability to compete on price.

2.3 Success of iPhone is largely linked to great design, technological superiority and innovation, but also linked to strength of Apple brand and Apple’s highly effective global marketing campaigns.
3.

Greater variety of products/services
D
Recent appreciation of the exchange rate

I
Britain leaves the European Union

I
Recent investment in robotic production

H


Big wage rises in China

 
H
Careful planning on glocalising products

H


UK productivity continues to stagnate
I
Improving technical education in schools

H
D: greater variety of products could help with differentiation, but only if the targeting is intelligent/well-informed; the risk with producing more products is that costs per unit rise, undermining cost competitiveness
4. A wide range of responses are possible here; a good catalyst for some group or class discussion.
	THREAT

	Jaguar Land Rover
	Modern cars have high-tech software systems; does JLR have enough access to high-skilled technicians and engineers? Skill shortages would be a massive constraint



	Marks & Spencer


	Threat from competitors such as Zara, able to react faster to changes in fashion because they buy from European suppliers, not from the Far East 



	OPPORTUNITY

	Walt Disney


	Global competition (and the convergence of tastes, fashion and the use of English this brings) helps to open markets (such as China), increasing opportunity for firms such as Disney to sell films worldwide.  



	Innocent Drinks

	Innocent probably knows how to produce cost-effectively at low scale and therefore can tailor product to different tastes in different countries, i.e. differentiate through glocalisation




                                                                                                                       www.a-zbusinesstraining.com 

